Multi-digit Subtraction

Find the difference.

71,989 371,989 371,089
-21,492 -96,492 -25,192
879,989 879,000 879,989

—727%. 492 -788,492 -21,070
879,000 279989 500,989
-21,989 =491 4029 -242,000
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Find the difference.

71,989

=2 LD 2

50, 4 97

379,989

=02 1,48 2

158,497

879,000

=23 5898 D

Multi-digit Subtraction

371,989

=96.,492

371,089

=2 5,; 1892

275,497

879,009

=7388.,4897

857,011

90, 517

279,389

—391%1,492

87, 897

345, 897

8:7°9:,,0:89

=23 R0
858, 919

500,989

-242,000

258, 989
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